




1 ) 268 – 47 = 



2 ) 899 – 65 = 



3 ) 587 – 140 = 



4 ) 768 – 305 = 



5 ) 798 – 564 = 





546 - 218 = 

หลักร้อย    หลักสิบ      หลักหน่วย 
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546 - 218 = 
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น ำตัวลบ บวกกับ ผลลบ จะเท่ำกับตัวตั้ง 

546 - 218 = 328

218 + 328 = 546



351 – 246 = 
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น ำตัวลบ บวกกับ ผลลบ จะเท่ำกับตัวตั้ง 

351 – 246 = 105

246 + 105 = 351



504 – 138 = 
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504 – 138 = 366

138 + 366 = 504

น ำตัวลบ บวกกับ ผลลบ จะเท่ำกับตัวตั้ง 



แบบฝึกหัด 2.11





แบบฝึกหัด 2.11
หำผลลบ









2. จงหำผลลบ

1) 675 – 657 =
2) 937 – 86 =
3) 483 – 99 =
4) 512 – 350 =



5) 975 – 388 =
6) 964 - 135 =
7) 775 – 659 =
8) 813 – 734 =  




